Unit 3 Life on Earth        
          Topic 2 Energy In Ecosystems
                                   National 5

Homework 5
1. The food of eight animals is listed in the table.
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(i)The owls and the hawks are in competition with each other.

Explain what this means


KU1

(ii) State one possible effect of competition between organisms.
    



KU1

2. In African grasslands impala, giraffe and zebra feed on Acacia trees. Impala and zebra also graze on grasses.

[image: image3.emf]


State one way that competition for food is reduced between zebras and giraffes.   KU1

3. Groups of students carried out an investigation into the effects of competition.

Trays containing seeds were set up as shown below.

[image: image1.emf]


The trays were watered regularly to allow germination to take place.

After several days the seedlings were observed and the number with healthy green leaves was noted.

[image: image4.emf]

The results are shown in the table below.

(i) Predict the percentage of seedlings with healthy green leaves if 75 seeds were sown in a seed tray 
 



PS1
(ii) State two factors for which the seedlings could be competing in this investigation.
     

PS1

4. A study has shown that Scotland’s river otter population is increasing after falling sharply over the last 40 years.

[image: image5.emf]

Otters live along the banks of rivers, usually in reeds and gaps between tree roots.

Fish are their main food.

(b)What disadvantage might otters have if reeds are removed from riverbanks?



KU1

(c)Mink are North American animals introduced into Scotland. They feed on fish and live in riverbanks.

What effect would the mink have on otter numbers? 

Explain your answer.

Effect______________________
Explanation___________________

KU2

5. Questions 5(i) and 5(ii) refer to the graph below.
[image: image6.emf]

The graph shows the variations in the populations of arctic hares and their predators, foxes, in an area
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(i) What is the difference in 


the population sizes of the 


hares and foxes when both


populations are at their 


maximum?


A 3000


B 16000


C 52000


D 58000 			PS1
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(ii) What could be the reason for 


the decline in number of foxes


after 9 years?





A The food available decreased.


B The numbers of prey increased.


C There is less disease in both 


populations


D The food available increased.





					PS1
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